                                               AGE-RELATED

                                                    EXPECTATIONS

	ADDITION  


	HTU + TU

HTU + HTU

(incl bridging 1000)

Decimals: money

(£7.85 + £3.49)


	Number line

374 + 248 =

                +200

                                   +40      +8

    374                    574     614  622
	No number line

374 + 248

374 + 200 = 574

574 +   40 = 614

614 +     8 = 622


	Partitioning

374 + 248

300 + 200 =  500 

   70 +   40 = 110

     4 +     8 =   12


	Expanded vertical

            374

        +  248

              

              12

            110

            500

           

            622


	Compact vertical

            374

        +  248

 

            622

            1 1

	Bonds to 1000

Derive sums of pairs of multiples of 10 / 100 / 1000 

(Multiples of 50 that total 1000)

Pairs of fractions to 1


	TU + TU

(Pairs of multiples of 10 / 100 / 1000)

Three, 2-digit multiples of 10

Two, three-digit multiples of 10



	
	
	
	
	
	
	
	
	

	SUBTRACTION    


	HTU – TU

HTU – HTU

Decimals: money

(£7.85 - £3.49)

	Number lines – counting on

754 – 186 = 568                                  + 500                                   + 54
                                                              

                          +14



                      186      200                                                  700                      754

Vertical number line may be used to record calculation
	Partitioning

754 - 186

754 – 100 = 654

654 –   80 = 574

574 –     6 = 568


	Decomposition- expanded

723 – 458 = 265  

600      110     13
700  (  20  (  3 
400  (  50  (  8

200   ( 60  (  5   = 265


	Decomposition - compact

[image: image1.png]I
PN
o olm





	Derive differences of pairs of multiples of 10 / 100 / 1000
	TU – TU

Subtract pairs of multiples of 10 / 100 / 1000

(Th)HTU – (Th)HTU 

(small difference)

	
	
	
	
	
	
	
	

	MULTIPLICATION


	Record, support and explain:
TU x U

(eg 16 x 8; 43 x 6)


	Partitioning

43 x 6

(estimate: 40 x 6 = 240)

40 x 6 = 240

  3 x 6 =   18

	Compact grid method


43 x 6

 [ref Multiplication grid ITP]


	Expanded vertical

             43

          x   6

                 
             18    (  3 x 6)

           240    (40 x 6)

               
           258


	Compact vertical

             43

          x   6

            
           258 

             1 


	Derive / recall facts to 10 x 10

Multiples of numbers to 10 up to the 10th multiple


	Numbers up to 1000 x 10 / 100

(whole number answers and understand the effect)

Doubles of TU / HTU numbers and multiples of 10 / 100



	
	
	
	
	
	
	
	

	DIVISION
	Record, support and explain:

TU (U

(eg 98 ( 6)


	Number lines (start from zero)

96 ( 6 = 16                    

                                      10 x 6                   

                      0                                    60              96
	                  Short’ division supported by jottings 

(estimate: 90 ( 3 = 30)

        2 7
3      (multiples of 3)
3 )  8 21
6,       

9
12

15

18

21

	‘

Derive / recall ( facts up to the 10 times table


	Numbers up to 1000 ( 10 / 100 (whole number answers and understand the effect

Halves of TU / HTU numbers and multiples of 10 / 100



	
	
	
	
	
	


  Rapid Recall





  Mental Calculation





X
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